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Direction (Q. Nos. 1-5) : Study :‘.M
following information carefully an
answer the questions given below :

Following are the conditions for selecting
Senior Manager-General Banking in @
bank :

The candidate must

() have secured at least 60 percent
marks in std. XII

(i) have secured at least 55 percent
marks in ‘Graduation in any
discipline

(i) have secured at least 60 percent
marks in Postgraduate degree/
diploma in Management/

Economics/Statistics

(iv) be at least 25 years and not more
than 35 years as on 01-03-2010

(v) have post qualification work
experience of at least 2 years as
General Banking Officer in a bank

(i) have secured at least 40 percent
marks in the personal interview.

In case of a candidate who satisfies
all the above conditions except

(a) at (iii) above but has secured at
least 60 percent marks in CA or
ICWA, the case is to be referred
to the VP-Recruitment.

(b) at (vi) above but has secured at
least 65 percent marks in the
written examination and at
least 35 percent marks in the
personal interview, the case is
to be referred to the President-
Recruitment,

ngﬂ_ (g9 Q°aiul 1-5) : 9Qq A9 w&

ag ¥e° AQ6Q QUIKINA ggq @mgﬂa

QI QUISEQ G0 ARG~ ~Qigg o

qaelael a8 aaea Q619 Adl agg

m_m: a&e

(i) 6Q 682 FRIGIER FICRER Paq

(i) aQeImel / 2816/ A5Qe

fiv) 01-03-2010 &1 LEAAEQ 25 of

(v) 691G QUIFER RIS MIT QF

(vi) P AVGINIER 2ERAES 409

agaeel

55% @A Qs

QIeeRIaa gl /@EQIAIEa 2yl
60% GAQ AUES|

35 QUQ 2R 62IR @ 26T

ZARIQT RIES ACRAER 2 Qdq §
6QIGHGI QR RINY AVRGI 2

QAN @26

Q6918 10 RUCAIY AN a._,_
QAR F6E QlgiT 6AFER
@) QO 926 Q& (i) 69 CA QI
6Q 2T Qe 60% @mm%_._.
6gdeee Qgicenes Aae
QACdl QO QLR

() 2AQ QAEWe QAR (vi) 69
AQIRIER 2BRAEH 65% 8
AYICINIQER ATRNER 35%
QYRR ACEIQ 6gT6es A
A@0Q 90¢ Qaudel
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each question below are given details
one candidate. You have to take one of
following courses of action based on

e information provided and the

t to assume anything other than

e information provided in each

estion. All these are given to you as on
-03-2010 :

1. Neha Salve has been working in a
bank as a Generalist Officer for the
past four years after completing her
Postgraduate degree in Economics
with 60 percent marks. She has
secured 60 percent marks in both
Graduation and std. XII. She
was born on 24th August, 1979. She
has secured 70 percent marks in
the written examination and
38 percent marks in the personal

interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the

VP-Recruitment

(C) The case is to be referred to the

President-Recruitment

(D) The candidate is to be selected

———

—

ODISHA PUBLIC SERVICE COMMISSINM

0% g96Q 6918 Q1T QT6eE G2y QIS |
QAQINGYQ AT6AIQ ORI, UG 6 AALAFEF
ARG KA AIEOF F6EIQ 63115 ALY UAUF
SR 622 99° 62 RIdY UIAIQ A°IIQ
UIET ARQ VIEQ TFO @AG| YELUR YU6R
QAUAINYQ! ORI IG1e 2108 2 6FET
G} I019Q 6n6e QIEI AAY G AL
01-03-2010 g®I G21QIQ3 |

1. 692 ANER Faq 28x106a QIe6aIaa
60% @AQ A2 @g1 AN B 69IET
MITER 6RERANG ATAQ V6L I V1D
Qg 33 QIdY Q@ 21YaT| 62 ARG IR
G Q199 69€16Q 60% KA QYRR 1979
U] 246Q 64 9F 62RBI| 6Q A
dQIFIER 70% B VPAC AVISRNAER
38% FAQ QeS|

dA) G9R 6991 AR JLIF SRS
o2y 9@ aduig qeL

(B) 9@ @UQQ 69dcee AQyceres
0Q0Qq A9dl YTe @ARIQ 629

(C) AT 6936ee AYITENIT TRT]

QAGEI YOS QQRQIQ 629

(D) A& Qi 9ae 9ad

—

~
-
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2. Neeta Jaiswal was born .
2nd of June, 1980. She has _u.um.mmﬂ
Working in a bank as a Genera _am
Officer for the past thre€ .uam_wcﬂ
after completing her _uoﬂmnmﬁ_:m ith
Qmmﬂmm in Economics w ad
60 percent marks. She has mwo:nnm
68 percent marks in H. Sc. Mwm
58 percent marks in B. Com. 8
has also secured 50 vw_.ona. mar d
in both the written examination an
personal interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

3. Kesav Vora was born on
8th November, 1978. He has
secured 65 percent marks in std.

XII and 60 percent marks in
Graduation. He has secured
58 percent marks in M.A. Economics
and 60 percent in ICWA. He has
been working in a bank as a
Generalist Officer for the past two
years after completing his
education. He has also secured
50 percent marks in the written
examination and 45 percent marks
in the personal interview.

A) The data provided is inadequate
to take decision

3) The case is to be referred to the
VP-Recruitment

') The case is to be referred to the
wnmwamsﬁ-moog#gms#

) The candidate is to be selecteq

u.

@l N_QTJL_QQQ 60%, @a.ﬂ

ceaia@ 891 IR 38 68 fao
MQ_@A ox_ﬂmgmmﬂmﬁo_md@ @mm.mm
o1y QG 21983 | 64 99.9Q7 6Q
s @. @7 69 58% TR AYa] g
Q60 AkS QQAE\_.G QIQLIQ &:m_a_._
50% @A Qygs!
aga 699 AIR 999 Qqigg
ool 9@ Q949 ge% _

g6 @aq 699699 @w,_?
facq 996l 990 QA ¢y

a6 6gd6ee AQYSENgq
acdl 96 @QQIq 629

ae gl 009 g8

1ol
ca IS

(A)
(B)
(C)

(D)

6@4Q 6QIQI 1978 AL Reang |
og 62186 62 Q9 YIISagqy
AAQ 1Q° QISR GAEAQ 60% FAQ Qd
6Q 9F.4. QAERIEFIFTFEQ 589 §
ICWA 6Q 60% 9AQ QY83 ¢q §
RIS €IS LUAN A6 99 ®
UQ 6AITY TR 6R6RING 2]
AR ALY @G 219831 6 Ay §
aNRER 50% QA 1R G
dIBIGINIAER 45% FNQ AYSE|

(A) 898 6291 QI8 goIe ealga
Qe 9Q adyig ged

(B) 99 aeaid aiaq ¢qdse
Agicenee BR6Q o0 FaaIg

e L S [ o T agyeed
TR0 996 QdqIg c2e

(D) 9% qieh eae ga3
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N\Mw.mmma Ghosh has been working

, Sohan

in a bank as a Generalist Officer
for the past four years after
completing his Postgraduate
Diploma in Management with
60 percent marks. He has secured
50 percent marks in the written
examination and 40 percent marks
in the personal interview. He has
also secured 70 percent marks in

std. XII. He was born on 25th
February, 1975.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The candidate is to be selected

(D) The candidate is not to be

selected

Majhi has secured
65 percent marks in B. Sc. and
70 percent marks in M. Sc.
Statistics. He has been working in
a bank as Generalist Officer for the
past three years after completing
his Postgraduation. He has secured
5SS percent marks in the written
examination and 50 percent marks
in the personal interview. He was
born on 8th of July, 1982.

(A) The data provided is inadequate
to take decision .

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

—

OBISHA PUBLIC SERVICE COMMISSION

4.

2300 6AIT YICRRETIFER 60% TLO
QY QIOERAQ FEYIAI 688 @} Q@dlC
QI0Qd U 6QITY QUITER 68RIANG
2FAQ NIES Ry @6 2GRS 6Q MO
dQ1FIEQ 50% @A 9Q° QYFAC
dIDISRNAER 40% 1A AYSS| 64 ¢
QPE FIGIGER 70% AN} AYBB| 64
1975 6XQQIQ1 256Q g 6LIRe/6R |

(A) A9Q 609 UIR gQIe QARSI
can 9@ adyig geL

(B) 98 @uaQ 6glcee Ggicenss
AReQ Ac¢l o6 *AQIQ 629

(C) Q@ gigh eae g28

(D) Q@ Qg eae @ 928

€QI2e AIZ 3.99.9 6Q 65% 99° 4.
¥2.3 6@ 70% 999 QSR 6Q A
QISERAQ 6QNIAYG! LA TR TS Fad
AUQ 6QITN QUSSR 6REAARNY ATFAQ
QI96Q QIdY @Q2IYeF | 6Q AYE
AAIFIEQ 55% I° PAS AITIORNQAER
50% QAR Q4831 69 1982 gRIA 86Q
QR 62N

(A) G98 6891 AR YIUR FAIAINAR
QaY 9@ adyig Qe

(B) 9¢ QGaI§ QIQq 6gdcese
QQICErLT Bag 900 QaSIg 62Q

(C) 99 QAT 6glces Agisenes
QQcq 900 *d9Ig see

(D) 9 Q2 oae g2d
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6. KOOU_.SN in mind the H.m__m—nm....uﬁ
between Numbers of the first pair,
mz.a the Possible number for the 2nd
bair from the options given below :

43:12::84:7
(A) 46
(B) 32

(C) 12

6. 4 "

aa 60168 IR Augy
area @& 9@ AR AUQ Qaig

- a°siIg 69T QQUIQ [
4312384179

(A) 46
(B) 32
(C) 12
(D) ¥&Iq 6996 6%
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:u.. None of the above

7. 96719 9HLFAER T6RIT 6 G
QI2IQ AAIe 636]Y QARBI Feqyg
o6R l6QIT IRF QAUIKNIAT g
66ITRQ AAIF 6TIY QLT 697 gaa!

7. Three words are given in the
H.o:oi_.:m question which have
CoOmmon feature. Four options are
given below the three words, one of

Which has that same common 6HIT QLI ¥

feature. Find the word :
o, I, @S

Fruit, Flower, Stem

A) OR

(A) Scent (A)

(B) Leaf (B) 9g

(C) Vegetation (C) aue

(D) Forest (D) @&

Three words are given in the | - 8. Gegig 949096 36012 90 dal

following question. Four options are
given below, one of which is
representative of the three words.

$49YQ 69T\ T6RIT a10a gy
Find that option : &

62 A9g0Q 6417 QIIQ Qql

Cheetah, Lion, Tiger oQIQI19, Gog Al

., 2re (A) S3augia)
B) Extinct -
(B) 9qg
°) Circus ©) @mw@
)) Carnivorous :
— (D) Qrqg

m1/’



" travelled from a point X straight

9. Raj ;
to Yata distance of 80 metres. He
rurned right and walked 50 metres,

then again turned right and walked
70 metres. Finally, he turned right
and walked 50 metres. How far is
he from the starting point?

(A) 10 metres
(B) 20 metres
(C) 50 metres
(D) 70 metres

. Pointing to a photograph, a person
tells his friend, “She is the
granddaughter of the elder brother
of my father.” How is the girl in the
photograph related to this man?

(A) Niece
(B) Sister
(C) Aunt
(D) Sister-in-law

rection (Q. Nos. 11-15) : In the
owing diagram, the circle represents
llege Professors, the triangle stands
Surgical Specialists and Medical
ecialists are represented by the

tangle :
A
CA)

B Z B
e '\
l. B represents
(A) Professors who are neither
Medical nor Surgical Specialists
(B) Professors who are not Surgical
Specialists
(C) Medical Specialists who are
neither Professors nor Surgical
Specialists ,
(D) Professors who are not Medical
Specialists

OBisHa pyBLIC SERVICF COMMISSINN

9.

10.

feqael (94 Q°eyl 11-15) :
QIRGINER QRIFIQ 698 FEAR, Y6TAQ,
G99IRIQ 699 AFRIN 6ATING I&° IASIRA
69Q 6FERIN 6Q9IAY AIFEA 9N @6l

11.

Qe X 3gq Ju yadys 80 fea Q¢!
@716 Q6RI 62 IRIEIG IMEM B 50 AT
QIREMI GI'V6Q 22U BINEF QM
70 A9Q QINEMI 6496Q, 64 PIRIEY
M 50 FigQ QIMEM| 64 2199 @YY 696C
QQ6Q gem?
(A) 10 fie@
(B) 20 figa
(C) 50 AeQ
(D) 70 §ieQ

69T T661Q GO0 @0 F6E AR BIFA
QI 2L6M, “64 6711 QIUIF Q6 WA
RIGEN SB1” X6I6REQN TAUT FAR 64R
MR QLG AU ?
(A) REQ1

(B) Q@41

(C) 4@

(D) QIR

26919

)

B B

QN | <

[ A

B goqQ @6
(A) 96TIAQ 6QNVAIEE QD 6APAAN
e QRN 6Q4IAY QLT
(B) 96T9Q 6QKAI6R ATRIN 6Q8IAY
Qes :
(C) 6ABRIN 6ANRY CAAANCE QAR
g6TAR IQ° ARRIN 6INNAY QLD

(D) G6TAQ 6AAAER 6ARRIN 6Q8 A

QLe
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12, Oo:.nm_m Professors who are also
Medical Specialists are represented

by

(A) A
(B) X
(©) Y

(D) 2

13. College Professors who are also
Surgical Specialists are
represented by
(A) A
(B) B
() C

(D) D

14. Surgical Specialists who are also
Medical Specialists but not
Professors are represented by

(A) B

(B) X
(C) Y

(D) Z

15. C represents
(A) Medical Specialists
(B) College Professors
(C) Surgical Specialists

(D) Medical and Surgical
Specialists

12.

13.

14.

15. CgoRIQ @6

@EMT

T 6AWFIER 120 mﬁ..._

qeae 98¢~ fn _
¢@ 6QAIER NN g,

mﬂ&__ﬂ_m@ Z

(A) A
(B) X
c) Y
(D) 2
gearaa 6AACNER 1 p._.._,__
cqeIag 268, 62716 GORNG g
(A) A
(B) B
(€ €
(D) D
dEQIn 6T6IRG CARAER A Goigg
cqaIaiq 298 §F 96TAR QLS s
geaNe 62IaIs

(A) B
(B) X
(€) Y

(D) Z

(A) 6918QIR 629N
(B) Q6AS Y6TAQ
(C) QRN 6IAIAY

(D) 69BN 9G° ATQIR 6Q9IAE
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os. 16-20) : Read the

(@, No#: ’
information carefully ang
questions given below :

p, E, F and G are sitting

__“__..‘__ HM“ i _.aa.wamm.mﬂ left of F.
| is third to the left of E.

w_h._,u._ W.. - between D and E.
v

6 which of the following has the
" middle person sitting between the
remaining two?

(A) FCE

(B) EFB

(C) DEB
(D) None of the above

7. Which of the following is the
position of F?
(A) Fourth to the right of D
(B) To the immediate left of C

(C) Between A and E
(D) To the immediate right of A

8. Which of the following is false?
(A) A is fourth to the right of E -
(B) G is to the immediate right of
D .
(C) Fis third to the right of D

9. Which of the following is true?

(A) Cis the fourth to the left of B
(B) A is to the immediate right of G
(C) D is second to the left of E

(D) B is second to the right of G

. Which of the following pairs has the
first person sitting to the immediate
left of the second person?

(A) BE
(B) CA
(C) GD
(D) DG

——————

g5 S = le and are faci

fil ~ und & Ccirc cing the
art
ﬁ._.::.n.. _
. s second tO the left of C, who is

(D) B is to the immediate left of D. "

NMSUA DIIRI IG SERVICE AAMAIc 1 ~*

s
e (9@ Q%I 16-20) : 76719 9°F1T
ARQ A2 0g 9e° G6R GRS J4Q AA
Q|
(i) A, B, C, D, E, F9@° G 69154 mm_mwo
6Aga IAQIH6A 678} J¢ @4 Idas!
(i) G, Ca Qg e1a6a 928, 84 @ F 9
QN FRCeq A6
(i) A, EQ QI1q 901060 Q@@ |
fiv) B, DB E @ qu6Q 9%8|

16. 6719 6a6e 29dq QR R (1U6S

UK NG @Iee @@8?
(A) FCE
(B) EFB
(C) DEB

(D) 98Q 6996 Q6%

17. §6qI9 6add Fa 6 2667
" (A) D@ @IRI6g 0gd
(B) CQ Qg 2% 899
(C) AG EQ F1ER
(D) A Q @I914g 2T Fad
18. G6QIQ 690 FaM 26 ?
(A) A EQ @I216g 99%6Q a%8
(B) G, DQ QIRI€g Qe 26T
(C) F, DQ @IR1€6g Q01969 Q%8
(D) B, DQ QI Qe 26T

19. G699 6996 QeY 26¢'?
(A) C, BQ QIfIg 9Q¢i6a 928
(B) A, GQ @IR61Q FRECQ 26T
(C) D, EQ QIN1q Q0196Q Q88
(D) B, GQ Q26 LO1AEQ QL8

20. 36719 6QIE AUQ 6RATER QAN NG
Q919 QA QY FRCEA QLR ?
(A) BE
(B) CA
(C) GD

(D) DG
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Qeas Gl"%ﬂl@@' 6q

21. Find the - Qa4
greatest 6-digit number 21. 82 a4« o g
among the following which is 4. 1506 36 QIQl OR VWG S
exactly divisible by 24, 15 and 36. 2% 5
(A) 999999 (A) 999930
(B) 999720 (B) 99200
(C) 999750 & 993820
(D) 999820 (D) 99 " .
5 -~ 2] GQQQ X = 7, =
22. Which of the following is/are true 22. GOAES 7 a R
forx=7,y=5,z=3? aisl O] 269!
o i s () xyz + 3 6998 O8O Qay
(B) xyz - 4 is prime 2 g
c B) xyz - 4 6298 JIQ¢
( ) X+ y+2z+10is a perfect square (B) = ol
(D) All of the above () x+y+z+1062QT QQ of 7
\ Rl 4f1g
23. ]\:)Nhail_lshtl';e least positive integer (D) @AEAIY q
Yy which 750 should be multiplied ol o
so that the product is a perfect 23. AQA¢q RIS Q94 %Hllleast Posig
Czbe? integer) AI21QISI 750 YEFI Qi
(C) 36 (8) 12
(D) 8 (B) 24
(C). 36
24. A perfect square number can never (D) 48 |
have the digit at the unit’s -] ~ . . =
place. 24. 6915 @G 4IN6Q 691N JYG Qg
(A) 4 Q 66143 e QRAIea X |
(B) 5 (A) 4 _
(€) 8 (B) 5
(D) 9 (C) 8
D) 9
25. The value of \/J0-00059049 is (D)
(A) 0-243 25. /0-00059049 @ fAY 628
(B) 0-0243 (A) 0243
(C) 0-00243 (B) 0-0243
(D) 0-000243 (C) 0:00243
6. Which of the following statements ol o e
ol 26. @96q a2 Y 950 0R?
(A) All natural numbers are also ' IR 6@ age OR1 ,
whole numbers (A) Q99 9IQEe Q°@yl QgD 9
(B) There is no smallest whole a1 6LIRelNg '
number - .
(C) The greatest whole number is (B) 6aleQ Q999 QqQla Qe & &
1000 (C) 9289 Agaig g g 1000
1< eag 10%
(D) 1 is the smallest whole number D - 1 RS
(D) 1 62Q8 Qo QgQia Qe
C 10
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5+34)=(12X15)+(12x34), this

I_?)({I

4 is known as o e
.\ distributivity of multiplication

4 over addition

closure property

associativity of addition and

multiplication

) commutative property

(B)

(D
in the following series, how many
' ich odd numbers are there which
are divisible by 3 or 5, then followed
py odd numbers and then also
followed by even numbers :

12, 19, 21, 3, 25, 18, 35, 20,
2. 21, 45, 46, 47, 48, 9, 50,
52, 54, 55, 56

. Aaradhya, Reyansh and Akshit
start at the same time in the same
direction to run around a circular
stadium. Aaradhya completes one
round in 252 seconds, Reyansh in
308 seconds and Akshit in 198
seconds. After what time will they
meet again at the starting point?
(A) 42 minutes 12 seconds
(B) 44 minutes 30 seconds
(C) 45 minutes 40 seconds

(D) 46 minutes 12 seconds

30. Let the positions of the first two
digits in each number of the

following set are reversed :
738 359 456 342 986

Find the difference between the
first digits of the highest number
and lowest number.

(A) 4
(B) S
- (©) 6
. (D)7

n
NicUA DRI IC SERVIFCE ArARRsicn:~ -

e —

7. 12x[15+34]=(12x15)+{12x34},‘dm
@€Ig8
(A) 6916 QUEQ YERA FEAE
(B) Q@R QM@
(C) Figel 8 Qaea IRGas
(D) QF6cQI9 AN

28. FORYS GA6R 6@60IG a6 Q6! ag
QIRI@ 3 Fa 5 QA FVIFE §9, ©I'T6Y
26 A°HYl QIaI AGAQE 9 8 GI"A6T
6919 Q°GY QA A 2AFAQE @EQ!
12, 19, 21, 3, 25, 18, 35, 20,
22, 21, 45, 46, 47, 48, 9, 50,
52, 54, 55, 56
(A) O
(B) 1
{C) 2
(D) 3

29. ZIQLll, 6Qa°d 8 2Fe AR AAAER,
Qe Ga6a 69IGN 6QININIQ AGEIER/
QITAA6Q 691G 2R [EM| AIQII
252 696@E6Q 605N QUAY 6HIXMI,
6Q9°19 308 6Q6Q€6Q B 28 198
6A60E6Q| 6Q60 AL A6Q 6QAIeR
geeIa 2I1eA 629YS FINEa IRFS

62697

(A) 42 minutes 12 seconds
(B) 44 minutes 30 seconds
(C) 45 minutes 40 seconds
(D) 46 minutes 12 seconds

30. 9¢6Q QAIAINAYL! 69T 6Q YEUR A°SHI
Q 929 0% 2 gIF GRS 6RIRE|
738 359 456 342 986
Qe 8 GIOa LW gaa A& ARI6H
QI @TeQq (difference) QULIQ ¥Q|
(A) 4
(B) S
(C) 6
(D) 7
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31. The pie chart given below shows the
percentage-wise breakup of
_students in terms of specialization
in MBA :

HR
14%

IB

Finance "
12%

If the total number of students is
8000, what is the total number of
students having specialization in IR,
Marketing and IT?

31.

. Finance
g 12%

gé agelo 8¢ 8Ielw Q°HY| §
Q.8 (IT), FIERE" G N2, (If
deaacl 2R QD BI9 TGS Q

(A) 4640
(B) 4400 6R6a?
(C) 4260 (a) 4640
(D} 4080 (B) 4400
(C) 4260
32. Which of the following statements (D) 4080
is sufficient to answer the e - - 3
question? 32. PORYS @@ AIeE Q 69wC gJal
Question : Find the total number 6QQl QIR A6AY?
of students in a class if the class 1
has some boys and some girls. 99 Ggéﬂ&'i AW El%—ﬁi@ﬁﬁ
Statements : QIRIQ @Q U@ 6g€16Q @8 Y2 G @
(i) The number of boys in a class 989,
is 10. @ :
(i) The number of girls in a class ) 68419 92 Q° 3
is 2 more than the number of ) 3 Qﬂ kst '.
boys. (i) €69€16Q A A°SYI g Q°N
(A) Only statement (i) is sufficient 2 AR '
(B) Either statement (i) or (ii) is (A) 6299 29 (i) 6298 Q629
sufficient (B) @5 (i)
. 3
(C) Both statements (i) and (i) are () 6a1RIea zaql ) 9
sufficient 6LIRAIeQ
(D) Only statement (i) is sufficient (C) Q9 @F (i) @ (i) A6AY
(D) 629 @@ (i) 962q
0-C 12
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34.

Wﬁ’?ﬁ

table DEIOW =SS AL Ually
me (in I of 50 persons. Study

nCO
i e carefully and answer the

question given below :

r "['[1;5{1_1;{?) No. of person;
|'L(;_q;d_tl1an 300 12
r”l:(w;s__than 350 26
Less than 400 34
“Less than 450 40
l['Less than 500 50

How many persons earn ¥ 300 or
more but less than ¥ 4007?

(A) 8
(B) 12
(C) 22
(D) 38

Five distinct shops sold varying
quantities of umbrellas and
raincoats in a specific month. The
table given below provides the sales

figures for each shop :

Number of Number of

Shop

umbrellas sold | raincoats sold

250 100

120 140

200 260

350 320

o OO >

250 300

If both the number of umbrellas and
the number of raincoats sold by
shop F is 40% more than that by
shop E then what is the difference
between the number of umbrellas
and the number of raincoats sold
by shop F?

(A) 90

(B) 70

(C) 60

(D) 50

33.

34.

@679 60YMEQA SO WEl Qwmol LET
Q69) goara 218 gede c219@ | 669
g AQUIRGIA AR 2Ague @@ G gée
Qaa @2l

2 (o) i
Qogl
300Q @ | 12
350 Q @1 | 26
400 g @¢1| 34
450 Q) @¢1| 40
500 @ @1 | 50

6REORE 4G 300 Q AR B 400 Q @
QAITe QER

(A) 8

(B) 12

(C) 22

(D) 38

QBT YoR 6QIRIR Qg 6AITNY A1
38R Qage 861 8 AdIG 6QITIQ Ig@m|
Gq 699R6Q J6GIR 6QIRIe AR &F
aey Q21 QIS

concie | B E‘?I@ cUIgIR
Q°eil Q@ Q°shI
A 250 100
B 120 140
C 200 260
D 350 320
E 250 300

J@ 6QIRIF FQIQI 891 8 94IG 6019199
QR LM 6QINQ E QIR IF 62IRYS
Q°HI0IQ 40% 2R §I 6069 6QIRR
FQIQI Q 6219¢Q! 861 @ AT 6QINISR
QY FRIEQ AILRY 6Q69 7

(A) 90

(B) 70

(C) 60

(D) 50

C

13
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T -e

- PEchart given below shows the
percentage of students in five schools
and the table below shows the ratio
of boys and girls in each school.
Study the pie chart and the table and

answer the question that follows :

School

E

Girls : Boys

S:412:315:311:2]14:1

36.

If the total number of girls from all
the five schools is represented as
the pie chart, what will be the

measure of the sector angle (to the
nearest integer) corresponding to

school B?
(A) 42°
(B) 32°
(C) 48°
(D) 58°

In the light of data sufficiency,
choose the appropriate option.

What will be the total weight of 10
poles, each of the pole is of same

weight?

Statements :

(i) One-fourth of the weight of
each pole is 5 kg.

(ii) The total weight of three poles
is 20 kg more than the total

weight of two poles.

Statement (i) alone is sufficient
while statement (i) alone is not
sufficient

Statement (ii) alone is sufficient
while statement (i) alone is not
sufficient

(C) Either (i) or (ii) is sufficient

(D) Neither (i) nor (1) is sufficient

(A)

(B)

35. @96

o ea1QIede! T BT (pie o

Q aigﬂmgm Wy
ie SuIRag
QAIRBI AR b
3 @76 Qang

cq QIEd Qe
cogaa o67 9°
gacae 2gale 9
chart) @ 2gIe e
gea eaa @2

QNIPD

A

—

e :

5:3|11:214:1B

gal|3:4 2:3

36.

Q% QAg QAIETAIR AIRDQ AqQl
@34l 6918 QIR QIS (pie chary)
gedie 9218, SQIRAR B @ AQ9Q.
6QIEQ AIQ 6Q6E 6227

(A) 42°
(B) 32°
(C) 48°
(D) 58°

ca4Q AdYIgeIq QE6Q AY QAL
Qae Qal
JENRAT QAR BRFEQ 106 Yo
Q QYRR BIE 6R6S 6297
Qé -
(i) DESIR YD 5 6QF (9@
ogara -
(i) VT YIRQ AYRIA BRF0IQ
YIIR AYRIA BRR 20 60
(A) @Q (i) 9NN T Q6] 646
QQ (i) IR A6AY Q68
(B) @Q (i) 9191 € Q6ag 696
QQ (i) 9QIRN Q6aAg F6F
(C) 99 (i) @I (i) c2QF 628
(D) fi) Q8¢ @ (i) @ Qeag 96¢ |

)-C

14
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and answer the question -

gxport of Pearls (in crores_o_f-!_f-_"'““"

65
6o l .........

001 2002 2003 2004 2005 2006 2007
Years

What was the percentage increase
in export from 2006 to 2007?

A) (50/3)%
(B) 20%
(C) 19%
(D) 24%

38. The following table gives the
percentage profit earned by two

mﬁ; bar diagram gm
3

p—

37.

e

9969 QuiaIRgel qI1q GIRgIA (bar

diagram) @ 2Quie @@ 6 g49 @9
Q2|

.....

Export of Pearls (in crores of ?)

Years

2006 Q 2007 9448 QGIRIER 6RER
g9%4ae Q& QIeg?
(A) (50/3)%

(B) 20%
(C) 19%

(D) 24%

companies A and B over six years. 38. 9% QAUA AT QMR AB BRIAI QUGS
Answer the question given below : AN IO GF) 609REA QUKIRT| 1A
Q6R TAUILINYS g9 e T2l
Year | 2008 | 2009 | 2010 | 2011|2012 | 2013
A J' 25 45 35 50 30 40 ed | 2008 | 2009 | 2010 | 2011 | 2012 2013]
B |40 | 35 | 50 | 45 | 40 | 45 A| 25 | 45 | 35 | 50 | 30 | 40
B 40 35 S0 45 40 45

If the income of Company B in 2010
and 2011 were in the ratio of 2 : 3
respectively, then what was the
ratio of expenditures of that
company in these two years?

(A) 9:12

(B) 10: 29
(C) 20: 27
(D) 29: 45

—_—

QG 2010 G 2011 6Q QAIRQ AIAA
290l QAFEA 2 : 3, IR 9| W6
6QT QAINQ A AYAIT €6 ?
(A) 9:12

(B) 10:29
(C) 20 :27

(D) 29 : 45
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Direc.tion (Q. Nos. 39 & 40) : Answer the
?;estmns based on the following pie chart

at shows the sale of different fruits in
a day for a shop :

a6 °qyl 39 & 40) : g
Beaael (gq Q9 3 ) : Begd
QIS (pie chart) Ejjﬁlﬁegé@%%@a Q‘ng g
caiqia ale 6aIGN GRER VT sIge, Wy
aeg gade @l | 8

Sales

M Banana .Grapcs B Apple B orange B others

39. If a total of 1200 kg of fruits were
sold in a day, calculate the amount
of bananas sold (in kg).

(A) 360 Kg
(B) 320 Kg
(C) 300 Kg

(D) 280 Kg

J. Find the difference between sales
of grapes and oranges.

(D) 60 Kg

Sales

Others :
20%

Orange
15%

-Ba.narla -Grapes -Apple mOrange n

39. 9@ 661G~ GREQ AL 1200 67 Bv|
§¢ 62ml, @@@1 (bananay) g
(6@ 6Q)Q AAAIGY BAIQ Qg

(A) 360 6a@
(B) 320 69F
(C) 300 6a&

(D) 280 6Q&

40. @RI (dranges] 3 2L (grapes)
@Q gIdiey o4l |

(A) 30 6@@
(B) 45 6%
(C) 54 6@

(D) 60 6Q&
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o
((““: yassage and answer the
' Wwi® pat follow. Your answerg to

ion®
r"”:;uc'st'fms should be based on the
Z nﬂly .

Jobal refugee Crisis has reached
¢t g roportions, with millions of
! eing their homes due to conflict
ple Ltion and instability. Datg and
¢C”, underscore the magnitude of

astics " Ldding light i

o051, shedding on the immense
ir_ﬁchs faced by both refugees and
hfr countrics:

Jﬂ'[i]t’ mOS_t recerlt UNHCR report, there
0" o 82 million forcibly displaced people
vide. This includes refugees, asylum
and internally displaced persons.
", number of refugees alone has
€ ssed 26 millipn, w1th nearly 80% of
. hosted by neighbouring countries in
jons facing their own challenges.

ia remains one of the most significant
(tributors to the refugee crisis. Since
onset of its civil war in 2011, an
mated 6:7 million Syrians have fled
ir country. Afghanistan is another
jor source, with over 2-7 million
igees, driven by ongoing conflict and
ecurity. Venezuela’s political and
nomic turmoils have resulted in a
ygering 5-4 million people seeking
gees in neighbouring countries.

sloping nations shoulder a substantial
len in hosting refugees. Countries like
cey, Pakistan and Uganda are among
top refugee-hosting nations. Turkey
> hosts more than 3-6 million refugees,
arily from Syria, placing significant
1s on its resources and infrastructure.

international community faces a
ctive challenge in addressing this
s. Providing humanitarian aid,
ring access to education and
hcare and facilitating resettlement
ital components of a comprehensive
mse. However, strained resources,
cal complexities and the growing
l of anti-immigrant sentiment in
host countries present obstacles to

Ef‘fPr‘fiwa anlisbimnen

___.--—--__--

,mtu. 41-45) : Read the

AYRFISS UNHCR Q6016 299169 AIQIIFER

PEQaR (9q QoI 41-45) : G UGERICR
99 99° 06R 8Ql gga aaa @l Taw
49900 A9Q 6@eR 2qegedq ARIA @9
6221 QFQ|

UQPERI-e

AT, AdYIeRl 9e° 2P0l 62¢ A AF EAIR
SQAIRST AARIG ARIAS QN AR 6 axse!
A9e JaQ age AQAIecq ALl QAR AND
Q6121 8 21ga gIIReIal 6aagea QIal 92
G QQ°HYIQ 2 ASTQ FINCIQ YRLQ 99°
@A A2 ANa FadIE1 G AIFH gl

62490R AN 2QASI A1 AIRFYER ATE
IERRAIS 2214

82 §Qeq af 9Rgee gIRI8Ae g ALs3!
N2l AI6Q 994181, 21gagR 66INIR, UBTRS
R PIRQYS MTJIER 2P| IRIF1 sl
QG 26 FQE APRA ARG, AN 80%
6Q% A19RQ A6I61 6QageR Q1A AIFD AIRN2IB
€RAIER BR 6Q9a AAAYIg AR @8

dQ41Ig1 9Se ge Jqal QDI IR ALY
2QQIQ QI 699N ANIETIAT| 2011 6
N2IQ GeYe 21 6291 da0ig 1@ AKwQ
AQQAIeQ 67 Gge QAU 6QEAQA €QANIE
694 81 ARIAR QAST| AITAIRGIR A @
Q8 92 QITAQ 2-7 FYEQ AR EMID AINALYR
Q°ad ¥e° PRSI 62¢ FQ€IA1 VIET FCIPT
6210851 6REAFPINA AKCHER G LR I
54 0Q0 6RIRY TELIH 6QageREx 2Iga
681IGQIQ TR 263

QIR AGA 6226Q IRde AYYER
Q@ (12994 AR 926 Q9B §R, AIRYIS 9e°
QIS 9F 6Qagee dadidl A9 AFYER
RICE A1F6Q 2AVT| 6RAR Q@ IRIR 36 FYEQ
2R 994181g F6aTRQ AAAIQ FR6LA6Q
dIe 6998, JI2l e QAR I9° AAYF aaea
QI 6QRaIN|

@ ATTQ AN RAUER 2IBVIGR 6QNF1 4R
QTR 2IYFQ AFHS 2| QIR ARIAG!
geIe, 391 ¥e° 9IQIF9Re QUNES! FEC *aQ!
4Q° QA8ARIRY 4IA QQAQI IR QIO
QIS QAIQIS 26T 6062 6R6CR 2IFD
geIeeIal Qlgea 999 A6RIAIRAY AR ANR,
QIGETER F0R0I ¥Q° 4Q4Id1 FAVAL &Y
AIRAQEI TRYQ AARIIF EHIRQI2IQ A6
goeee q8esql
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2610@ 99412 Qo

In conclusion, the current international
refugee crisis is a complex issue with far-
reaching implications. Data and statistics
highlight the staggering numbers of
displaced individuals and the significant
challenges faced by both refugees and
lhost countries. Addressing this crisis
requires international cooperation, policy
reforms and a commitment to upholding
human rights in the face of adversity.

41. Among the listed countries, which
one hosts the most refugees?

(A) Germany

(B) United States
(C) Turkey

(D) Canada

42. What challenge is faced by host
countries in addressing the refugee

crisis?
(A) Ample resources and
infrastructure
(B) Low levels of international
- cooperation
(C) Anti-immigrant sentiment and

strained resources
Ignoring human rights concerns

(D)

43. How many forcibly displaced people
are there globally, according to the
UNHCR report?

(A) 26 million
(B) 50 million
(C) 82 million
(D) 100 million
44. Which country has hosted the
largest number of refugees from
Syria?
(A) Turkey
(B) Jordan
(C) Lebanon
(D) Iraq
$5. What is a major driver of the
refugee crisis in Afghanistan?
(A) Economic opportunities
(B) Religious freedom
(C) Ongoing conflict and insecurity
D) Political stability

camea, a195% Togaim 9eIe ogg)
oo gad A q’qg SBAIRS qee @ ~ectlS
g9° g@g"%{ e ﬂqu aQlal al wu-'- 4 " ng
& QRAEIT | ga gAIRRIa AIgqRg o Sl o9
Qe 99 Qqél ?qumq@'? @g@@ algﬂl H
ge! QI 2ag ANK! FANER g
o @ S5 G s
. Qae @ d
gjjQeuR| N g -
41 AL 6Qaqgee '?‘Iﬂqes;fa . deaV
' e 219e 697 | hi
qug-lqg fé]@é'llﬂ"q, g d ot
(A) ella
(B) A°YS Qg
(C) G
(D) QRIS

42. 9Q€Idl 4S9 QNG QAR g
geIaeIal QIEGeR 6@9 ANAI /2
ageie 237 T
(A) adug aaw @ a9
(B) @999 avfel@@ QAREAIQ
(C) gaqidl QA8 QIeAQg)

aceII@ay AN 9w
(D) QIR ZRIFIQYESY. AESQH| ¢
43. UNHCR Q6416 2969 6332 qiilesi
m

c06ead G RIS YINQYS CIRf g

(A) 26 @99 .
(B) 50 @Q¢ -
(C) 82 @Qe '

(D) 100 §q§: ( 3
44. JoaIg €9a 6@ WL ¢
Q9181g 2P 6N ?
(a) 98
(B) 6Q1L1R
(C) 6RQINR
(D) QIR
45. AFARYRER 94121 ATTQ YW §
Q8 2T
(A) 26TOR Q6QIQ
(B) uIfi@ QRIS
(C) NTAR2YI ATV G 2AZAG!
(D) QUREHIR G0l
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on (Q- Nos. 46-50) : Read the
;rf’c‘t assage and answer the questions
JoWinE © your answers to these questions

Y 110W-
£ tuli;C pased on the passage only :

Nl
! 4 ag€ 2 . ) .

~ engineering, a revolutionary branch
et 1:-.-:111101 ogy, continues to evolve rapidly,
b‘IPITtUnl’aing the way We approach
. -1_1““0_ iculture and various scientific
1"“‘.iiwours_ Recent developments in this
;*.;higlﬂight both the immense potential
il¥ ethical considerations that come with
lﬂ: wer tO manipulate DNA.
!

medical realm, gene editing
~h,1ologifs like CRISPR-Cas9 have gained
ominence: These  tools  offer
Jﬂprecedeﬂted precision in modifying
:enfﬁ~ holding promise for _treatlpg_ genetic
fsorders. In @ groundbreaking clinical trial,
escarchers successfully used gene editing
bh[reat sickle cell anaemia. The patient’s
- modified cel{s were reintroduced into
heir body, resulting in reduced symptoms
nd an improved quality of life.

p agriculture, genetic engineering is driving
dvancements in crop production and food
ecurity. The development of Genetically
fodified (GM) crops has enabled plants to
esist pests, withstand harsh climates and
!anrove nutritional content. For instance,
BM rice has been biofortified to contain
igher levels of essential vitamins,
totentially combating malnutrition in
ions where rice is a staple food.

owever, these advancements also raise
ical concerns. The potential for creating
esigner babies” through gene editing has
arked debates about the boundaries of
enetic manipulation. The question of
hether it’s ethical to alter human DNA
enhance physical or cognitive traits
ntinues to challenge bioethicists,
licymakers and society at large.

ata indicates the exponential growth of
netic engineering research. In the past

de, the number of scientific publications
lated to CRISPR technology has
ultiplied significantly. In 2010, there
T¢ approximately 150 CRISPR-related
bhcatiOnS; by 2020, that number had
ared to gver 9,000. This surge
“Nstrates the profound impact of genetic
8Neering on the scientific community.

n

I]-‘.J

the

=
FeRaR (g9 Q°¥Yl 46-50) : G‘f}ea Q|
2G6R90Q 09 ¥e° 66w QI gqeaa A8a
Q2| AN g§geaa @aa 6@ 2Q680'Y
ARG ¥Q 62Q1 QL3I
AQYERL-9 R
i 6900R A°FEAA QIEAIETREFIEMITT
4@ 63qae aaia 26 QiR 3, 98 IF
33y comiGe gerqgIges gé aINa AU
QUIBEE @5 g0 GIER gRIFe 629I6R MG
R 6896Q QIgER 3914 Qed AAI 8 670
I9010q@q 26RINAIG @6a G2l DNA Q
aa0IRel QAQIaIa AINgY 6ea AIQaNI

9@Ql 6mg6Q CRISPR-Cas9 9 &€
9G3a 6ORERIERIG gQuel 1A @adl
PEYeA UQRAR KAQI, FAYERA CIAY
dRAIAQE @AQIAIR 9Ggeaa 626 ¥
ARIFIYES 29eqe 2gYe JIIFRER! 631G
QOR IR0R FaeIM G60FI6Q FERARXEE @
6AM 6RAZIQ QAQIA IR IR YLCES
ATROIQ AT QLA [EM| €AFARE D
aGede QI6RIE] 6AAIRT EAIAET
JRIgeaIs AATR QIR AAE @RS G EIAR
F1REQ ANQREQ JoTwe camll

QTECAZER, 94 AQIGR G AN GAVIEQ
6RRTR ATEAND R0Q 69 266 FAQIA
J0QRe I FRIG 8] 6AIR AQY AVINER,
Q0R 9991 d2IRAQI G 6AINR 6] 14
Q@6Q| QQILQE YA, IR Y A
ABREQ AAIQY QALNFGIQ IR SALAAIR
QAPYAs AGHIRAIR KSIFS Q8 AFR (GM)
QIRRg 659qe *AUUIRTI

6069, T QRIF AL 600a JAFT A
QAR RN FQ BT FIRINEA ‘CRIRGA
6QQ” QARARIQ AAIRR! 690C] AARIRRIQ Q1A
u96Q 909 Q¥ @481 1dEQ DNA § 93eee
QA GI'a FI91Q QI RIAIR 6391 9F @A
6A0R @ g6L, Y@ g4 Q28Q SIER 6TQCRCRG!
QQ, FIP ARIAR Ye° AALG AR VIR

6REATR ATAATATA ACIVE AYRQ
2R VYRGB YOO A6l YIS PARER
CRISPR 66@6QI6RIT Q" ARG 6TRIGS QRI96
A HIQYLRA ALQYYNIER Q&S 62191 2010
6Q CRISPR Q°d@¢ gQIee Q°@yl QI 150
gRIsQe® 2020 Y&l IR Q°HYl 9,000 QAR
QLB YL UIQ 6IRITR €AY QACA 696RTR
RGIAAQA Y NG ANTe TN
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s WEe navigate this brave new world of
ge€netic engineering, striking a balance
between innovation and ethical
cons1de_~rations remains paramount. The
potential to cure genetic diseases,
enhan(,?e_ food Security and make leaps in
scientific understanding is immense.
However, careful consideration and
collaboration are necessary to ensure that
the ben'eﬁts are realized while addressing
the ethical complexities that accompany
these technological breakthroughs.

46. What ethical concern is associated
with genetic engineering?
(A) Improving food security
(B) Enhancing cognitive traits
(C) Treating genetic disorders
(D) Preventing malnutrition

47. How has the number of CRISPR-
related scientific publications
changed over the past decade?

(A) It has remained constant

(B) It has decreased significantly
(C) It has increased moderately
(D) It has multiplied exponentially

48. Which gene editing technology has
gained prominence recently?

(A) PCR

(B) CRISPR-Cas9

(C) DNA sequencing
(D) Microarray analysis

49. In a clinical trial, gene editing was
successfully used to treat which

genetic disorder?

(A) Cystic fibrosis

(B) Huntington’s disease
(C) Sickle cell anaemia
(D) Diabetes

50. What is one of the benefits of
Genetically Modified (GM) crops?

(A) Increased susceptibility to
pests

(B) Reduced nutritional content

(C) Improved crop yield and pest
resistance

foa b
gl @8 @QUINY ANVGqg

aoica 2169 9 | qd
2 6a AgRT 9910 agq) g !

ao oola (14 2
6R0R Q0 QeI gEaQ 26T Qig o

21661 6@6R0R 602 L c
gy gedIg 9% @aQl 99° 69RIND Qi o
aeel 299919 2691 gy 18

?ggsg:gslleqm aTeol 4ve G’?Q
QOeclg 98 @aql AT 29I NN g
aig agaie §o1a 6 Qeedld 8“?'314% !
46. CREATR AERAR" AL 6@9 6709 3
@@ ? .
(A) HIEQaRl ANGE XA
(B) RIQIAD R QIR |
(C) 69G0R QRN QAVIA RGg; |
(D) gaeIFeIa Jesald QAR :
Sae Ga86a CRISPR QR8¢ 63g \
gelae Qeeuieq @ad aA9Ee ceigy,
(A) <92l §o oL i
(B) 4@l A2QQdIee 219 AR
(C) 92 ARIQENES Q& 6198
(D) 92 2R XN Q80 g
Q°gl 699 &8 IGTF 6FIRSAIG
gqsiel eam 9087 ;-

(A) PCR

(B) CRISPR-Cas9

(C) DNA sequencing
(D) Microarray analysis

49. 699 69A0Q IEQA6a QAQIQ A
35QIR g6egIca @a 1eTe AT
Qe 96aIe 62IRaINI |
(A) Cystic fibrosis
(B) Huntington’s disease
(C) Sickle cell anaemia
(D) Diabetes {

50. 68RCQIN AQQEG (GM) aQya &l
AN 6 ? -
(A) Q199 RIS QEREQ
(B) 601990Q 2I19AR6A
(C) 49QY A 9e° Q1¢ gaealg ¥

(D) @14 Q& aiqy

47.

48.

(D) Longer growth periods
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., NOS. Y4 B Jay . 111l quest T-T_-—-__'i. - ’ ool
’ daﬂ‘Q a par‘-t of the seﬂtenc:ril: ] G’SQQQI (gﬂ q°glyl 51 &52) G‘ﬂ

Iﬂ’rec pelow: Bel S Dy BE Mo o 3 6QGITO
0" g and underiined. = i ai'e given | QUIQIQYQI gIFER @8 2°8 QI

' ‘rﬂi_,-f_’ﬂ to the iaihici par whl h. i " - i |Q @ 6@
;{'tfﬂ_,.-m}f)sve the sentence. Choose t;e EIGG‘I Y egige oa o {]f@ﬁ@ﬁ?ﬁﬂ ?QI
ay _'lﬂiinemative- In case no improvement | QAININGE| Q2 AN ANYE WA 'alraﬁ
'z:‘dt’d' option (D) is the answer : QaQQ Fegdq QI8! Qg, ewlad AR

The workers are bﬂu—bQ&LG_ngmM Iyl @ aig, 6969 @@aG (D) 6%<|
-y what is due to e, 51. The workers are hell bent at getiing

(A) hell bent on getting what is due to them.

g) hell bent for getting (A) hell bent on getting

() hell bent upon getting Eg; ll:eﬂ ll;f:nt for gettxgg X
- ell bent upon gettin

(D) No improvement (D) No improvement

When it was feared that the serfs

when it was feared that the serfs 52. ] f
might go too far and gain their might go too far and gain their
freedom from serfdom, the freedom from serfdom, the
protestant leaders joined the Protestant leaders joined the
princes at crushing them. princes Q_t_m&}fﬂﬂg them.
& hi (A) into crushing
iy m;]s. e (B) in crushing
(0] 1 GOSN, (C) without crushing
(C) without crushing (D) No improvement
(), Hpferpevaecs 53. 0 999099 QUYe 999 QI8 4I9l 96w
In the following question, choose the JIQIRael 90 0] FAQ1C 26N
word which is the exact OPPOSITE . ge I
of the given word : @ aed
ENORMOUS g6Q1a¢lq (ENORMOUS)
A) Soft (A) 9L (Soft)
f}J ?_"erage ‘ (B) 2IN6QR (Average)
e C) @ (Tin
)) Weak (C) (Tiny)
(D) @@« (Weak)

ome proverbs/idioms are given - o — _
elow  together with their 54. Q)6 6RELR 64INQ/QLAS (proverbs/

eanings. Choose the correct idioms) 28 Q8¢ 4RI0 F2IAIQF
eaning of proverb/idiom : 69IQ</Q§AA (proverb/idiom)@ 09
To keep one’s temper 2]21?_ Qg
To b
) To e - To keep one’s temper
) To be in good mood (A) To become angry
| To preserve one’s energy (B) To be in good mood

(C) To preserve one’s energy

| None of the above
(D) None of the above

d the ¢ ctly spelt word. o
ISR 55. OR 9RIF 29I 4eQ QIg |
Efficient :
" (A) Efficient
reatmeant (B) Treatmeant
Beterment (C) Beterment
_Employd (D) Employd
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56. Which one of the following reasons

57. The statement that the dazzling

3. The word ‘Command Module’ used
twice in the given passage indicates
perhaps that it deals with

(B) a commanding situation
. (C) a journey into outer space
) a frightful battle

[ felt the wall of the
master alarm g

earphones. Almos
yelled down to
warning light on.
sights snapped into and out of view, the
snow, the shower of debr
looming close and big,
sunshine for once unfiltered
air. The last twelve hours be
were particular bone
period, I had to g
module. Even after the fj
splashing down in 81°

Pacific, we could still see our frosty
breath

(B) that there was no strong wind
(C) that the air was unpolluted
(D) None of the above

(A) an alarming journey

TetTees el answer the following :

tunnel shiver. The
quealed through my L
t simultaneously, Jack
me that there was g
Fleeting but spectacular

is, the moon,
the dazzling
by layers of
fore re-entry
~chilling, During this
0 up into command
€ry re-entry
water in South

inside the command module.

would one consider as more as
possible for the warning lights to
be on?

(A) There was a shower of debris
(B) Jack was yelling
(C) A catastrophe was imminent

(D) The moon was looming close
and big

-

sunshine was “for once unfiltered
by layers of air” means

(A) that the sun was very hot

TOWOIT \YH ™ - u

6 Gagaqeee 999 @

master alar;‘n 5:31
earphones. Almo
yelred down to me
warning light on.
sights snapped into
snow, the s
looming clos
sunshine for 0O
air. The last tw
were particulgr o
i I ha -
rP;le;cli?.ﬁ:a. Even after tl:e fiery Te-eny
splashing down in 8! water in SO%
Pacific, we could still see our frog
breath inside the command module,

57. The statement that the dazzlingli

58.

he tunnel shive,
uealed throyger
t simultaneousl}.‘ J
that there y, ik
n. Fleeting but specty,. 4
and out of View, §
hower of debris, the %he
e and big, the daZzliu
nce unfiltered by laye. "
elve hours before Te-ep
bone-chilling. During ¢
go up into Commanﬂ 1

felt the wall of t

56. 76419 FAEYER AUQ 6QUTY g
ICAIR FRSIQ AR QS DR qgq
Ao @9 ? - |
(A) There was a shower of debyjg ||
(B) Jack was yelling | |

(C) A catastrophe was imminent ||

sunshine was “for once unfiltereq

by layers of air” means |

(A) that the sun was very hot |

(B) that there was no strong wind|
(C) that the air was unpolluted

|
(D) None of the above |

QULIRYQ! AYERIEA XY AW
(Command Module) 98 Q@2Q QYW
QARG QNPT LI JOG 69 +
(A) an alarming journey |
(B) a commanding situation
(C) a journey into outer space
(D) a frightful battle
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61.

uestion given below, out of

[n th b alternatives, choose the
h can be substituted for
on€ ven word /sentence :

ne old age when a man

1
cx ! re . ]
IE¢~I141\'€5 like & fool
)

] [IﬂbCCility
[él senility
[C] Dﬂtage

D) Superannuation
(

n the following question, choose the

 Cord which best expresses the

ning of the given word :
EMBEZZLE

mea

(A) Misappropriate

(B) Balance

(C) Remunerate

[D] Clear

pirection : Choose the correct

option considering the statements
followed by the conclusions :

Statements :
fa) Some panthers are cats.
(b) All cats are mammals.

c) Some mammals not

panthers.

are

Conclusions :

fil Some mammals are panthers.
(i) All panthers are mammals.
i) All cats are panthers.

) All mammals are panthers.
(A) None follows

(B) Only (i) follows

(C) Only (i) and (i) follow
[

~D) Only (i) and (iii) follow

59.

61.

_/f-——‘
- = A 12
8q gea o ol6ale a@E

aa 9 d499¢ ol PP

6QIGQ QI8, AINIG FAIIREST T
goeeeca QYewIa calgia 99T

an
Extreme old age when a m
behaves like a fool.

(A) Imbecility
(B) Senility
(C) Dotage
(D) Superannuation

39 94qeeq aaQe % QI8 Q1T 967
dzIQIggel geq 2dg A6QIRN WIS
Mg @RI

EMBEZZLE
(A) Misappropriate
(B} Balance

(C) Remunerate
(D) Clear

fedagl : daie QIal AqQad @l
Q8T J62eRI @ A0 egoq 94
@Ql

a8 QA9F :

(@ €960Q S0I9Ia FcaR 23|

(b) Ag F6nQ gMAIAT ASEI

(c) 6Q60Q gmmm ooleIa QLs|
q|IS :

(i) 6QEER GANAIA TOINIA AT

(i) ANG TOIRNY AR AT

(i) ANG IR TN AT

(iv) ANG AL TRIRA AL

(A) P6RIQ 6Q9E Q6%

(B) 6Q9% Q6 (i)

(C) 6@ 6 (i) B (i)

(D) 6R9R Q6QIQ (ii) @ (iii)
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62. Divayabh gave an application for a
new passport to the clerk on
Monday afternoon. Next day was a
holiday. So, the clerk cleared the
papers on the next working day on
resumption of duty. The senior clerk
checked it on the same day but
forwarded it to the head clerk on
the next day. The head clerk
decided to dispose the case on the
subsequent day. On which of the
following days was the case put up
to the head clerk by the senior

clerk?

(A) Wednesday

(B) Thursday

(C) Friday

(D) None of the above

Direction : Choose the correct
option considering the statements
- followed by the conclusions.

Statements :
(a) Some desks are apartments.
(b) All apartments are cars.
(c) Some cars are trucks.
Conclusions :
(i) Some desks are trucks.
(ii) Some desks are cars.
(iii) Some cars are apartments.
(iv) No truck is a desk.
(A) None follows
(B) Only (i) and (iti) follow
(C) Either only (i) or (ii), (iif) and (iv)
follow
(D) Either only (i) or (iv), (ii) and (iii)
follow

63.

64. Complete the following series :
E-5, G-7, 19, K-11, ?

(A) L-13, N-14

(B) M-13, 0-15

(C) L-12, M-14
(D)K-12, M-14

62.

63.

64.

Divayabh gﬂ;"‘f_ to the clerk o
new Pazﬂemoon_ Next day wag
Mol.'ldil}' o. the clerk c.leared the
holiday- e next worklng_ day |
papers on of duty- The senior cler)
tion the same day buy
.. to the head clerk A
d ‘f ldtay Th; head ClErt]:
.epose the Ccase€ on ¢
decid:duzc:ldlsgy- On which of ‘Ee
subs '?1g days was the case put up
{Oll(::; head Clerk by the Seniﬂr
o

clerk?
A) wednesday

(B) Thursday
(c) Friday
(D) None O

f the above

scdaql : G818 QU LA qqy
aQaca @eaea @@ A0 I989] a0

@al

Q8 9f)E : ‘
@ €266Q 669 2AITEAS 2!

(b) 9g CITEAS Y AET
(c) 62669 @Iq SR US|

Jels :

(i) 6Q60@ 69 g« US|

(i) 6Q6OR 68] AU} AT
(i) 69669 QIQ AIAITEAS 26T
fiv) 66163 6Q 669 6%

(A) G6QIQ 699G Q6%

(B) 6@Q% Q6qIQ (i) 99° (iii)
(C) 6Qe% Q6 (i) @ (i), (i) 4Q° (iv)
(D) 6% Q6QIQ (i) Q! (iv), (i) 4<° (i

QMg Qe @A :

E-5. G-7. 19 K-11,?
(A) L-13, N-14

(B) M-13, 0-15

(C) L-12, M-14

(D) K-12, M-14 |
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55. In a row of children, Bali is seventh
from the left and Moti is fourth from
the right. When Bali and Moti
exchange positions, Bali will be the
fifteenth from the left. What will be
Moti’s position from the right?

(A) Eighth
(B) Fourth
(C) Eleventh
(D) Twelfth
66. A woman presents a man as the son

of the brother of her mother. How
is the man related to the woman?

(A) Nephew
(B) Son
(C) Cousin
(D) Uncle
67. Facing a man in the eye, Nero said,

“Your son is my son’s uncle.” How
is the man related to Nero?

(A) Brother

(B) Father

(C) Uncle

(D) Grandfather
68. If “!” denotes “added to”, “@”
|' denotes “divided by”, “%”
denotes “multiplied by” and “A”

denotes “subtracted from”, then
131102@6% 2741 =2

65. AAAIFSTA 6QIT9 UFPER QAR AN
Qgq, 6918 QIRNEQ 98| 6AET6ER
QIR 8 601D 6ANRTA PIF VTR F9B,
QN QY TEQE FINEQ QL LIRIEQ
6Q10Q QIR 6R6C 627

(A) 299
(B) 9gd
(C) 4QIe4d

(D) Qlwa

66. R64 AR 63T NIG. CIT AU
| SI9Q Q2 6Q QUQIAe @931 @ 48
RS LIS A2 FAT °ARG?

(A) Y
(B) Q2
(C) BIG
(D) Qi)
67. 264 QG AIY ANRIEQ €Y, 676l

QRR, “QAA YA 6l YAR QUQ A"
MY 96T 696l ATC FAG AARG?

(A) QAN

(B) QIQl
(C) QIQI
(D) 6969<1Ql

68. 9@ “I” {914, “@ A4, “%” YO
qQ° “A” 6U°QIEQ 40C Q6Q, €969

A) 6 131102@6 %2 A 41 =?
E w5 A) 6
(B) 9
(€ 14 (C) 14
(D) 12 (D) 12
10-C 25 [P.T.
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B SR = Q°
FS). Find the number of triangles in the 69. 99 @geQ GeeI@Ia €88 9
given figure : cuid QIR eal
L4} }1’1
N o
: - 2
(A) 8
(B) 10 ‘g‘] ?0
S :C} 12
(D) 14 (D) 14
70. F_ind the number of triangles in the 70. go@ 9869 POCIGC gggq@@g Qq°HY|
EReL g 6T QIRIa @9l
(A) 22 )
(B) 24 iy
(C) 26 () 26
(D) 26 (D) 28
7L e ke B o orice o | 71- 9% 30§ @218 qF6 qAM 40 8 3G
is equal to = ~ 25 o
40 articles, then find the % Q@A clgqﬂqqg aAI}, 6669 QLS %
discount. EREQ CHIT QUTIA @AQ?
(A) 25% (A) 25%
(B) 33-33% (B) 33:33%
(C) 75% (C) 75%
(D) 20% (D) 20%

72. A student scores 36% marks aﬁd 72. @64 ﬂﬁl&ll 360,;1@;19 QY 32 FRAsA
he fails by 32 marks. But if he 6T 241 @G, I 69 48% @NQA ALY,
scores 48% marks then he will get 6069 64 dId ARQ 0Ig 64 QA xR
64 marks more than the passing AIRS! QI8 2R CHIT AR 9
marks. Find the pass percentage. (A) 40%

g B) S50%

(B) 50% {B) 50%

(C) 35% (C) 35%

{D) 45% (D) 45%
LC 26

1-C
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ly incomes of X
The monthly : and y = o
73 ,re in the ratio of 4:3 and their 73. X3 Y Q AId@ A0Q AQAIe 4:3 <@

yionthly cXpenses are in the ratio 6QA7INE A1de Quae agdle 3:2 |

of 3: 2. However, each saves ¥ 6,000 6069, 9@ AR AIA] T 6,000 S« ATA
per month. What is their total '

monthly income? Q98| 6ANIFT 671 QIR D 667
(A) ¥28,000 (A) Z28,000
(B) ¥42,000 (B) T42,000
(C) 56,000 _ (C) 56,000
(D) 84,000 (D) ¥ 84,000

+4. P works thrice as fast as O, 74. P, QOIQ 8794 14 @l QR6Q, 99, P
whereas P and Q together can work 8 Q 9QE R OIg 91agel a19 ¢
four times as fast as R. If P, Q and @GaIGeal QG P, O 8 R 9@ 69154

R work together on a job, then in 3 & @
: ) @ 6QRIER A I
what ratio should they share the SlE) e, e 2 ° k

earnings? _ 6a9 2QaIeea Q18671
(A 3:1:1 (A). 8:1:1
(B) 3:2:4 (B) 3:2:4
(C) 4:3:4 (C) 4:3:4
D) 3¢L74 (D) 3:1:4

75. 8 men can do a piece of work in 12 75. 8 @8 QQY QIS QIHIg 12 TR6Q
days while 20 women can do it in QQ&QI 6Q6e 20 @4 q@ql \qg‘% 10

10 days. In how many days 12 men - L =
and 15 women together can 5060 A9 | 660 TR 12 76 YA G

complete the same work? 15 @& A2Rl 6Q% QY] ANIY FACR?
(A) 4 (A) 4
(B) 5 (B) 5
(C) 6 (C) 6
(D) 7 (D) 7
10-C 27 [P.T.O.

vy TSNS DN RO SRR AR
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Direction (Q. Nos. 76-80) : In each
question below is given a statement
followed by three courses of action
numbered (i), (ii) and (iii). A course of
action is a step or administrative decision
to be taken for improvement, follow-up or
further action in regard to the problem,
policy, etc. On the basis of the
information given in the statement, you
have to assume everything in the
statement to be true, then decide which

of the suggested courses of action logically
follow(s) for pursuing :

76. Statement : The school dropout rate
in many districts in the State has
increased sharply during the last few
years as the parents of these children
make them work in the fields owned
by others to earn enough for them to
get at least one meal a day.

Courses of action :

(i) The Government should put up a
mechanism to provide food grains
to the poor people in these districts
through public distribution system
to encourage the parents to send
their wards to school.

(i) The Government should close
down some of these schools in the
district and deploy. the teachers
of these schools to nearby schools
and also ask remaining students
to join these schools.

(i) The Government should issue
arrest warrants for all the
parents who force their
children to work in fields
instead of attending classes.

(A) Only (1)
(B) Only (ii)
(C) Only (i)
(D) Only (i) and (i)

6-80) : gecy@ 94 965
2 ), (i) 49° (iii) QEQ

[a aa g @<l (i) (ii)
6ol @9 ool 1
o%e G6aId qidy el @ 21Q9C | 69T

oy aial caied 9968 Q'Z' ;z:"“‘;&m
gaigae @9e. 2698, 3“@‘39 o 1,
@16 QAR gaqal @9 L “lQL@gea
S210102< 9o 21169 ‘c’llﬂ@ﬂ‘is 22:;9 Q!
ang qaig aey 691A gas | §§1 - asgf@,
ggiee QidIIgee a4 S ST

QS AFAE edIo 766 @A @G|

Secaq (g@ a7

= . 5o 65 od6a 618 ER TMIRY

76. 93 : 996 @8 @3 Ry a
gieQ 21a AU 2@ 8 FR6a 98
Qe8| QIaé 9@ aRIE JeIAIRIAIER 2T
Qrea @ag 6aITd 9% §IQ4 CAISIE
cdel Qg 2R QNI FHR UG

ofica canIag QIdY FRIRAIB!

QIdy 2R :

(i TSNS rsqmmﬁﬁmﬁ'gwm
QoIe! 398 QTG FoR! VIR QRIS
Q9o Qyagl ARINER 9@ FRIgEasal
oGe CRIRE SIS SQY CAISIRRI FA
A0 Mgl SRl QEe!

[) ANQIQ FRER 9T AR 6Q60Q
N0 IR R AEG| 9L IMIR
Jeea dgeq A9y IR
F6RIEe @QQI QATC EQIRAYSI
daiaieg 98 TQIIRAQLER
6QIG6QQIQ *EQ Q9|

(i) 666162 6QITERRN AAVER CAGER

QA *QaAQ delaies A0g

JoINRIeT IQREQ JQAT. QG|
AN FIQ KRR A0G|

(A) 6999 (i)
(B) 6Q9% (i)
(C) 6999 (iii)
(D) 6Q9%R (i) G (i)
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statement : One aspirant was

‘ Lilled due to stampede while
,articipating in a recruitm i
of police constables, =
courses of action :

(i) The officials in-c

recruitment

immediately bgr;&;;:ﬂg?;uld
ii) A team of offici ;

" asked  to fing" B:L?P ldtge
circumstances *which led to th:
death of the aspirant and submit
) in a week.

(iii) The Government should ask

f:%e home department to stagger
€ number of aspirants over

more number of days to avoid
such incidents in future.

(A) Only (i)
(B) Only (i)
(C) Only (i)
(D) Only (i) and (iii)

harge of the

its report with:

78. Statement : A heavy unseasonal

downpour during last two days has
paralysed the normal life in the
State in which five persons were
killed but this has provided a huge
relief to the problem of acute water
crisis in the State.

Courses of action :

(i) The State Government should
set up a committee to review
the alarming situation.

(i) The State Government should
immediately remove all the
restrictions, on use of potable
water in all the major cities in
the State. _

(iii) The State Government should
send relief supplies to all the
affected areas in the State.

(A) None

(B) Only (i

(C) Only (ii) and (iii)

(D) Only (i)

p——

77. @S : 6010Q RR6FIN FYS AVAIFER

. o3 : 396 ga T uR W86 AFAAS

A*AGRE QAQI ANAEQ V64 AINIMLA

ARQIEa QY ATYEA
QY U -

(i) QEALE I[N QDQER YS! AYYS
QAR GORIQ ARG 6291 ALT!

(i) 6QQ OOP0ER ANNSA I 6LR
QIR CHIR QIRNQ @@ 6T AGIR
QRIEA RETIT QTR QTR FF1R ANGY
RYNAAISA CTIT PG T2 ©o%!

(i) SYWIGEQ 1T AR ATEIY LEA
Q@Ql Q19 AeRIQ GIAFINAY
NG AU AGAIER AR I
02 QY QA< @OQ!

(A) Q9@ (i)

(B) 6QQ% (i)

(C) 6w (i)

(D) 6QQR (i) B (iii)

oSl QISYER ARINE F19RQ AR A~
6QR8, 6ANYCA AIBIE AT QY
6RIT| @7, 92 AINER IN1Q 8 AT
e0e QAQy QIR 2R ARSI QIR
Q8!

QI AR :

() aes 08@sa aMal AR QIS
JQIQ 98 4T 908 A VTS|

[ QUNQ ANG QI A2Q FFIEQ
QAINASR VR ATEQ AU

QARIQ GRS ANG YT
QOINER]N A0S

(iii) QUNER ANY NS 2BRYEY I
QARIQ AT ANG! QTS |AQ
Qo3|

(A) 69163C ge<

(B) 629% (i)

(C) 6999 (ii) B (iii)

(D) 6QQ% (iii)
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79

80.

- Statement

* A large private bank
of ite to retrench one-third

e_mPlDYees In view of the huge
losses Incurred by it during the past
three quarters.

Courses of action :

has decided

(i) The Qovernment should issue
a nOtllﬁcation to general public
to Immediately stop all
transactions with the bank.
The Government should direct
the ba_nk to refrain from
retrenching its employees.
The Government should ask
the_ central bank of the country
to initiate an enquiry into the
bank’s activities and submit its
report.

(A) None

(B) Only ()

(C) Only (ii)

(D) Only (iii)

(1)

(i)

Statement : Many political activists
have decided to stage
demonstrations and block traffic
movement in the city during peak
hours to protest against the steep
rise in the prices of essential
commodities.

Courses of action :

(i) The Government should
immediately ban all forms of
agitations in the country.

(ii) The police authority of the city
should deploy additional forces
all over the city to help traffic
movement in the city.

(iii) The State administration
should carry out preventive
arrests of the known criminals
staying in the city.

(A) Only (i

(B) Only (it)

(C) Only (it)

(D) Only (i) and (ii)

79.

so.

Q9 : Q9< B6qIc G% QAR 29Y Q3
ogu@ A0 62¢ 9« Qee EIG{-,QJQ Nl
1Rl 9« q{;ﬂgp@l QoIS Qlﬂ‘laql R
e I8 Aga caas! -
QIY A : i
() 92 QYIS A2 QIATIA W Y991 o5¢
QaRIq 6eQIR FFARIIVET QI d
a8g ge1e @aa! Qo
QIS NPIQ KASIANIG RAQ Qige
caeIq 200 6E9 I AANIA Rede
62Ql QBC|
e @IdIg 2YARIT 2 JAsay
QagQIae @acl A7e 639 s
QTG AARIQ QLS Q92|

(i
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